

**MUSKEGON COUNTY BID SUMMARY**

Commodity Numbers: 91063, 91360, 91392

Department: Public Works

Bid: IFB 21-2415

Release Date: 02/26/2021

Product / Service: Channel Crossing Contract No 3 - Memorial Drive

Opening Date: 03/19/2021

**Bid Net Solicitation Statistics**	
Received Notice:	420
Viewed Documents:	56
Solicitation Received:	5
No-Solicit Form Received:	0

Vendor Name & Address	Bid Received	Bid Responsive		Total Bid		Comments
Dunigan Bros. Inc. 911 E South St. Jackson MI 49203	Yes	Yes		\$2,405,821.50		
Jackson-Merkey Contractors Inc. 3430 Lund Ave. Muskegon MI 49442	Yes	Yes		\$1,396,985.00		
McCormick Sand Inc 5430 Russell Rd Twin Lake MI 49457	Yes	Yes		\$1,350,500.00		
Wadel Stabilization Inc 2500 N Oceana Dr Hart MI 49420	Yes	Yes		\$1,595,486.00		
West Michigan Dirtworks 4784 Evanston Ave Muskegon MI 49442	Yes	Yes		\$1,392,627.81		

Department Recommendation: McCormick Sand Inc

Name of Buyer: Jamie Burmeister

Director of Finance/Assistant County Administrator's Name: Beth Dick

Signature: 

Vendor Awarded: McCormick Sand Inc

Board Approval Date: April 8, 2021

Board Motion Number: BPW21/04-42

**MUSKEGON COUNTY BID SUMMARY**

Commodity Numbers: 91063, 91360, 91392

Department: Public Works

Bid: IFB 21-2415

Release Date: 02/26/2021

Product / Service: Channel Crossing Contract No 3 - Memorial Drive

Opening Date: 03/19/2021

**Bid Net Solicitation Statistics**	
Received Notice:	420
Viewed Documents:	56
Solicitation Received:	5
No-Solicit Form Received:	0

Bid Proposal Unit Prices	Units	Dunigan Bros. Inc.		Jackson-Merkey Contractors Inc.		McCormick Sand Inc		Wadel Stabilization Inc	
		Unit Price	Total Amount	Unit Price	Total Amount	Unit Price	Total Amount	Unit Price	Total Amount
Mobilization, Max \$110,000.00	1.00 LSUM	110,000.00	\$110,000.00	110,000.00	\$110,000.00	110,000.00	\$110,000.00	110,000.00	\$110,000.00
Clearing	0.76 Acre	39,120.00	\$29,731.20	13,200.00	\$10,032.00	5,000.00	\$3,800.00	11,950.00	\$9,082.00
Culv, Rem, Less than 24 inch	3.00 Ea	265.70	\$797.10	260.00	\$780.00	600.00	\$1,800.00	570.00	\$1,710.00
Curb and Gutter, Rem	140.00 Ft	5.30	\$742.00	5.90	\$826.00	7.00	\$980.00	8.00	\$1,120.00
Pavt, Rem, Modified	3383.00 Syd	10.70	\$36,198.10	15.00	\$50,745.00	2.00	\$6,766.00	9.00	\$30,447.00
Machine Grading, Modified	38.00 Sta	2,130.00	\$80,940.00	960.00	\$36,480.00	940.00	\$35,720.00	790.00	\$30,020.00
Erosion Control, Inlet Prot...	3.00 Ea	93.60	\$280.80	220.00	\$660.00	75.00	\$225.00	120.00	\$360.00
Erosion Control, Silt Fence	600.00 Ft	1.90	\$1,140.00	2.00	\$1,200.00	1.50	\$900.00	3.00	\$1,800.00
Erosion Control, Straw Bales	10.00 Ea	70.40	\$704.00	39.50	\$395.00	15.00	\$150.00	78.50	\$785.00
Erosion Control, Straw Blanket	1840.00 Syd	1.00	\$1,840.00	1.70	\$3,128.00	1.75	\$3,220.00	1.50	\$2,760.00
Driveway, Nonreinf Conc, 6 inch	115.00 Syd	61.50	\$7,072.50	51.10	\$5,876.50	52.00	\$5,980.00	45.00	\$5,175.00
Aggregate Base, 6 inch	215.00 Syd	16.90	\$3,633.50	25.00	\$5,375.00	12.00	\$2,580.00	17.50	\$3,762.50
Aggregate Base, 8 inch	3015.00 Syd	16.00	\$48,240.00	26.50	\$79,897.50	10.00	\$30,150.00	14.00	\$42,210.00
Aggregate Surface Cse, 6 inch	100.00 Syd	16.90	\$1,690.00	24.50	\$2,450.00	9.00	\$900.00	17.50	\$1,750.00
Shoulder, CL II, 6 inch	1446.00 Syd	16.40	\$23,714.40	22.00	\$31,812.00	9.00	\$13,014.00	11.50	\$16,629.00
Culv, CI A, Conc, 12 inch	171.00 Ft	99.80	\$17,065.80	34.00	\$5,814.00	32.00	\$5,472.00	33.50	\$5,728.50
Culv, CI IV, Conc, 15 inch	66.00 Ft	119.30	\$7,873.80	39.00	\$2,574.00	46.00	\$3,036.00	36.50	\$2,409.00
HMA, 13A, 2.5 inch	215.00 Syd	35.60	\$7,654.00	31.80	\$6,837.00	31.80	\$6,837.00	31.80	\$6,837.00
HMA, 4E1	437.00 Ton	121.80	\$53,226.60	109.00	\$47,633.00	109.00	\$47,633.00	100.00	\$43,700.00
HMA 5E1	318.00 Ton	138.60	\$44,074.80	124.00	\$39,432.00	124.00	\$39,432.00	110.00	\$34,980.00
Curb and Gutter, Conc, Det F4	140.00 Ft	30.20	\$4,228.00	25.00	\$3,500.00	30.00	\$4,200.00	25.00	\$3,500.00
Pavt Markg, Wet Reflective, ....	200.00 Ft	16.80	\$3,360.00	2.00	\$400.00	1.50	\$300.00	2.00	\$400.00
Riprap, Plain, Modified	2.00 Syd	144.40	\$288.80	320.00	\$640.00	150.00	\$300.00	223.00	\$446.00
Water Main, DI, 8 inch	6.00 Ft	1,280.00	\$7,680.00	120.00	\$720.00	90.00	\$540.00	113.00	\$678.00
Water Main, DI, 16 inch	8.00 Ft	1,360.00	\$10,880.00	215.00	\$1,720.00	113.00	\$904.00	150.00	\$1,200.00
Water Main, DI, 24 inch	2699.00 Ft	351.30	\$948,158.70	157.00	\$423,743.00	169.00	\$456,131.00	219.00	\$591,081.00
Water Main, DI, 30 inch	1091.00 Ft	388.50	\$423,853.50	195.00	\$212,745.00	200.00	\$218,200.00	256.00	\$279,296.00
Bend, 22.5 Degree, 24 inch	2.00 Ea	2,840.00	\$5,680.00	2,140.00	\$4,280.00	3,200.00	\$6,400.00	3,000.00	\$6,000.00

**MUSKEGON COUNTY BID SUMMARY**

Commodity Numbers: 91063, 91360, 91392

Department: Public Works

Bid: IFB 21-2415

Release Date: 02/26/2021

Product / Service: Channel Crossing Contract No 3 - Memorial Drive

Opening Date: 03/19/2021

**Bid Net Solicitation Statistics**	
Received Notice:	420
Viewed Documents:	56
Solicitation Received:	5
No-Solicit Form Received:	0

Bid Proposal Unit Prices	Units	West Michigan Dirtworks	
		Unit Price	Total Amount
Mobilization, Max \$110,000.00	1.00 LSUM	110,000.00	\$110,000.00
Clearing	0.76 Acre	14,171.04	\$10,769.99
Culv, Rem, Less than 24 inch	3.00 Ea	1,161.74	\$3,485.22
Curb and Gutter, Rem	140.00 Ft	6.97	\$975.80
Pavt, Rem, Modified	3383.00 Syd	8.29	\$28,045.07
Machine Grading, Modified	38.00 Sta	1,648.24	\$62,633.12
Erosion Control, Inlet Prot...	3.00 Ea	110.40	\$331.20
Erosion Control, Silt Fence	600.00 Ft	1.23	\$738.00
Erosion Control, Straw Bales	10.00 Ea	26.41	\$264.10
Erosion Control, Straw Blanket	1840.00 Syd	1.31	\$2,410.40
Driveway, Nonreinf Conc, 6 inch	115.00 Syd	48.72	\$5,602.80
Aggregate Base, 6 inch	215.00 Syd	10.32	\$2,218.80
Aggregate Base, 8 inch	3015.00 Syd	10.96	\$33,044.40
Aggregate Surface Cse, 6 inch	100.00 Syd	14.29	\$1,429.00
Shoulder, CL II, 6 inch	1446.00 Syd	9.34	\$13,505.64
Culv, CI A, Conc, 12 inch	171.00 Ft	32.50	\$5,557.50
Culv, CI IV, Conc, 15 inch	66.00 Ft	38.92	\$2,568.72
HMA, 13A, 2.5 inch	215.00 Syd	32.79	\$7,049.85
HMA, 4E1	437.00 Ton	112.40	\$49,118.80
HMA 5E1	318.00 Ton	127.87	\$40,662.66
Curb and Gutter, Conc, Det F4	140.00 Ft	22.74	\$3,183.60
Pavt Markg, Wet Reflective, ....	200.00 Ft	5.45	\$1,090.00
Riprap, Plain, Modified	2.00 Syd	144.18	\$288.36
Water Main, DI, 8 inch	6.00 Ft	52.73	\$316.38
Water Main, DI, 16 inch	8.00 Ft	97.13	\$777.04
Water Main, DI, 24 inch	2699.00 Ft	167.63	\$452,433.37
Water Main, DI, 30 inch	1091.00 Ft	218.08	\$237,925.28
Bend, 22.5 Degree, 24 inch	2.00 Ea	2,208.56	\$4,417.12

**MUSKEGON COUNTY BID SUMMARY**

Commodity Numbers: 91063, 91360, 91392

Department: Public Works

Bid: IFB 21-2415

Release Date: 02/26/2021

Product / Service: Channel Crossing Contract No 3 - Memorial Drive

Opening Date: 03/19/2021

**Bid Net Solicitation Statistics**	
Received Notice:	420
Viewed Documents:	56
Solicitation Received:	5
No-Solicit Form Received:	0

Bid Proposal Unit Prices	Units	Dunigan Bros. Inc.		Jackson-Merkey Contractors Inc.		McCormick Sand Inc		Wadel Stabilization Inc	
		Unit Price	Total Amount	Unit Price	Total Amount	Unit Price	Total Amount	Unit Price	Total Amount
Gate Valve and Box, 8 inch	1.00 Ea	1,410.00	\$1,410.00	1,810.00	\$1,810.00	1,800.00	\$1,800.00	1,700.00	\$1,700.00
Butterfly Valve and Box, 24 inch	2.00 Ea	8,450.00	\$16,900.00	8,860.00	\$17,720.00	7,100.00	\$14,200.00	9,750.00	\$19,500.00
Plug, 8 inch	1.00 Ea	178.90	\$178.90	520.00	\$520.00	275.00	\$275.00	300.00	\$300.00
Plug, 24 inch	1.00 Ea	2,030.00	\$2,030.00	1,350.00	\$1,350.00	2,100.00	\$2,100.00	1,155.00	\$1,155.00
Plug, 30 inch	1.00 Ea	4,810.00	\$4,810.00	2,140.00	\$2,140.00	4,600.00	\$4,600.00	2,100.00	\$2,100.00
Reducer, 24 inch x 16 inch	1.00 Ea	2,350.00	\$2,350.00	2,010.00	\$2,010.00	2,600.00	\$2,600.00	2,405.00	\$2,405.00
Reducer, 30 inch x 24 inch	1.00 Ea	4,760.00	\$4,760.00	5,520.00	\$5,520.00	4,800.00	\$4,800.00	4,245.00	\$4,245.00
Sleeve, 24 inch	1.00 Ea	2,670.00	\$2,670.00	2,780.00	\$2,780.00	5,000.00	\$5,000.00	3,100.00	\$3,100.00
Sleeve, 30 inch	1.00 Ea	6,800.00	\$6,800.00	5,360.00	\$5,360.00	6,500.00	\$6,500.00	5,410.00	\$5,410.00
Tee, 24 inch x 24 inch x 6 inch	6.00 Ea	3,230.00	\$19,380.00	2,740.00	\$16,440.00	3,600.00	\$21,600.00	3,520.00	\$21,120.00
Tee, 24 inch x 24 inch x 8 inch	1.00 Ea	3,300.00	\$3,300.00	2,740.00	\$2,740.00	3,700.00	\$3,700.00	3,515.00	\$3,515.00
Tee, 30 inch x 30 inch x 6 inch	2.00 Ea	6,710.00	\$13,420.00	6,130.00	\$12,260.00	6,500.00	\$13,000.00	5,955.00	\$11,910.00
Tee, 30 inch x 30 inch x 24 inch	1.00 Ea	10,190.00	\$10,190.00	4,670.00	\$4,670.00	10,000.00	\$10,000.00	7,835.00	\$7,835.00
Water Sampling Station....	1.00 Ea	2,330.00	\$2,330.00	2,690.00	\$2,690.00	2,500.00	\$2,500.00	5,410.00	\$5,410.00
Water Service, 1 Inch Long	17.00 Ea	9,670.00	\$164,390.00	1,900.00	\$32,300.00	2,700.00	\$45,900.00	4,735.00	\$80,495.00
Water Service, 1 Inch, Short	8.00 Ea	1,760.00	\$14,080.00	1,590.00	\$12,720.00	1,900.00	\$15,200.00	1,055.00	\$8,440.00
Water Service, 1 Inch, Special	1.00 Ea	15,150.00	\$15,150.00	1,590.00	\$1,590.00	2,100.00	\$2,100.00	1,210.00	\$1,210.00
Water Service, 1.5 Inch, Long	1.00 Ea	12,370.00	\$12,370.00	1,900.00	\$1,900.00	4,200.00	\$4,200.00	6,205.00	\$6,205.00
Water Service, 2 Inch, Short	1.00 Ea	6,790.00	\$6,790.00	1,910.00	\$1,910.00	4,200.00	\$4,200.00	8,145.00	\$8,145.00
Audio Visual Record ....	1.00 LSUM	4,920.00	\$4,920.00	1,520.00	\$1,520.00	1,000.00	\$1,000.00	1,100.00	\$1,100.00
Hydrant Assembly, Complete	8.00 Ea	6,780.00	\$54,240.00	5,430.00	\$43,440.00	4,700.00	\$37,600.00	4,785.00	\$38,280.00
Restoration	3790.00 Ft	15.50	\$58,745.00	10.00	\$37,900.00	4.50	\$17,055.00	6.00	\$22,740.00
Traffic Control	1.00 LSUM	28,860.00	\$28,860.00	21,000.00	\$21,000.00	50,000.00	\$50,000.00	30,300.00	\$30,300.00
Contingency, Owner	1.00	75,000.00	\$75,000.00	75,000.00	\$75,000.00	75,000.00	\$75,000.00	75,000.00	\$75,000.00
<b>Total Bid</b>			<b>\$2,405,821.50</b>		<b>\$1,396,985.00</b>		<b>\$1,350,500.00</b>		<b>\$1,595,486.00</b>

**MUSKEGON COUNTY BID SUMMARY**

Commodity Numbers: 91063, 91360, 91392

Department: Public Works

Bid: IFB 21-2415

Release Date: 02/26/2021

Product / Service: Channel Crossing Contract No 3 - Memorial Drive

Opening Date: 03/19/2021

**Bid Net Solicitation Statistics**	
Received Notice:	420
Viewed Documents:	56
Solicitation Received:	5
No-Solicit Form Received:	0

Bid Proposal Unit Prices	Units		West Michigan Dirtworks	
			Unit Price	Total Amount
Gate Valve and Box, 8 inch	1.00	Ea	1,701.39	\$1,701.39
Butterfly Valve and Box, 24 inch	2.00	Ea	9,289.27	\$18,578.54
Plug, 8 inch	1.00	Ea	299.96	\$299.96
Plug, 24 inch	1.00	Ea	1,371.90	\$1,371.90
Plug, 30 inch	1.00	Ea	3,885.92	\$3,885.92
Reducer, 24 inch x 16 inch	1.00	Ea	1,623.30	\$1,623.30
Reducer, 30 inch x 24 inch	1.00	Ea	3,158.61	\$3,158.61
Sleeve, 24 inch	1.00	Ea	2,221.42	\$2,221.42
Sleeve, 30 inch	1.00	Ea	4,515.47	\$4,515.47
Tee, 24 inch x 24 inch x 6 inch	6.00	Ea	2,217.87	\$13,307.22
Tee, 24 inch x 24 inch x 8 inch	1.00	Ea	2,214.09	\$2,214.09
Tee, 30 inch x 30 inch x 6 inch	2.00	Ea	4,356.54	\$8,713.08
Tee, 30 inch x 30 inch x 24 inch	1.00	Ea	6,188.62	\$6,188.62
Water Sampling Station....	1.00	Ea	2,414.66	\$2,414.66
Water Service, 1 Inch Long	17.00	Ea	2,916.52	\$49,580.84
Water Service, 1 Inch, Short	8.00	Ea	715.64	\$5,725.12
Water Service, 1 Inch, Special	1.00	Ea	679.57	\$679.57
Water Service, 1.5 Inch, Long	1.00	Ea	4,197.81	\$4,197.81
Water Service, 2 Inch, Short	1.00	Ea	2,967.93	\$2,967.93
Audio Visual Record ....	1.00	LSUM	993.67	\$993.67
Hydrant Assembly, Complete	8.00	Ea	4,707.67	\$37,661.36
Restoration	3790.00	Ft	11.53	\$43,698.70
Traffic Control	1.00	LSUM	21,086.41	\$21,086.41
Contingency, Owner	1.00		75,000.00	\$75,000.00
<b>Total Bid</b>				<b>\$1,392,627.81</b>

